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Ответ: Верно 
image1.jpeg
1

3o
gg;f PGo) = x*+ nx +d
D= h*_-4d >0
P(X +@:X+@L4 )’)(X+@+d =
=x"t(n f‘u/@gx ¢D +n DT +d
Bpabiane P() 1 P(x+(@])=0

Lxted (n +@7)x +D + N+ <0

D= Y (V@) gD +HIDHLd ), Corpeiiu
D= (n+@) - 2(0+ WD Fau) - B
Nt an DD -2 D -k ﬁ)7~l/a/:[n*.4/a/)—2)_.
s D=0 > WML@WWX’@




image2.jpeg
Mom
3°€§WNL% o

"0
M C&/FWW%

e
7%’%"* o

KSC)@O‘Z“:/O wrf;;%(/
WDM ) §> Srac
é\’\fW

ool -
Sa- xod C%)
Pm 4(//6 C’VOQ
MLIAL . A'MMO’\MW

ity R W
V\T OM,&MWMQ
%TWQ

Sanes
S dne 'E(Z’;:Séag‘q
s CAR = .
-3@%0

Q’-&T Bepro.




